Phys102 (Sec # - Qujz # 2 (Ch.17)
Name: k ev) ID #

1- A source emits sound with a frequency of 1000 Hz. The source and an
observer are moving toward each other, each with a speed of 100 m/s. If the
speed of sound is 340 m/s, the observer hears sound with a frequency of:

Fzoss He S5 0D
fU;:.l'>° 4 1y i
\J U) - o ___,_i_i——:—i—'
Vy zse X ][ ; N f\.ré foe 3o — Joo
v oo X w
— joco _,i?—e—/
7[’, ) i 24°

2- A tuning fork with a frequency of 510 Hz is placed at the open end of an
air column that is closed at the other end. What is the shortest length of the

air column that will resonate with the tuning fork? The speed of sound in air
is 345 m/s.
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3- The sound level at a distance of 5 m from a point source is 117 dB.
Calculate the power output of the source.
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